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Name: __________________________________



1
What are the coordinates of the center of a circle if the endpoints of its diameter are [image: image1.png]


 and [image: image2.png]B(-3,2)



?

	1)
	[image: image3.png]




	2)
	[image: image4.png]




	3)
	[image: image5.png]




	4)
	[image: image6.png]






2
Segment AB is the diameter of circle M.  The coordinates of A are [image: image7.png]


.  The coordinates of M are [image: image8.png]


.  What are the coordinates of B?

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]






3
Line segment AB is a diameter of circle O whose center has coordinates [image: image13.png]


.  What are the coordinates of point B if the coordinates of point A are [image: image14.png]


?

	1)
	[image: image15.png]




	2)
	[image: image16.png]




	3)
	[image: image17.png]




	4)
	[image: image18.png](10,107







4
The center of circle Q has coordinates [image: image19.png]


.  If circle Q passes through [image: image20.png]


, what is the length of its diameter?

	1)
	50

	2)
	25

	3)
	10

	4)
	5



5
In circle O, a diameter has endpoints [image: image21.png]


 and [image: image22.png]


.  What is the length of the diameter?

	1)
	[image: image23.png]




	2)
	[image: image24.png]




	3)
	[image: image25.png]




	4)
	[image: image26.png]






6
In the coordinate plane, the points [image: image27.png]


 and [image: image28.png]


 are the endpoints of a diameter of a circle.  What is the length of the radius of the circle?

	1)
	5

	2)
	6

	3)
	7

	4)
	10



7
A circle whose center is the origin passes through the point [image: image29.png]


.  Which point also lies on this circle?

	1)
	[image: image30.png]




	2)
	[image: image31.png]




	3)
	[image: image32.png](11,2/12)





	4)
	[image: image33.png](-8,5~21)







8
A circle has a center at [image: image34.png]


 and radius of 4.  Does the point [image: image35.png](3.4,1.2)



 lie on the circle?  Justify your answer.

9
In circle O, diameter [image: image36.png]


 has endpoints [image: image37.png]R(3a,2b-1)



 and [image: image38.png]Sla — 6,45+ 5)



.   Find the coordinates of point O, in terms of a and b.  Express your answer in simplest form.

10
In the diagram below of circle C, [image: image39.png]OR



 is a diameter, and [image: image40.png]


 and [image: image41.png]C(3.5,2)



 are points on a coordinate plane.  Find and state the coordinates of point R.

[image: image42.png]




11
In a circle whose center is [image: image43.png]


, one endpoint of a diameter is [image: image44.png]


.  Find the coordinates of the other endpoint of that diameter.  [The use of the accompanying grid is optional.]

[image: image45.png]




12
On the accompanying grid, graph a circle whose center is at (0,0) and whose radius is 5. Determine if the point (5,–2) lies on the circle.



[image: image46.png]





1
ANS:
2

[image: image47.png]3+




.  [image: image48.png]


.
REF:
061312ge

2
ANS:
1

[image: image49.png]_ Tz

~4+x=2

x=6



.  [image: image50.png]


.
REF:
081115ge

3
ANS:
3

[image: image51.png]off
M

4+x=12

x=8



.  [image: image52.png]


.
REF:
011305ge

4
ANS:
3

[image: image53.png]Ja-3r -2t = 1649 =5





REF:
061503geo

5
ANS:
4

[image: image54.png]JE5-9 1 - a)? = 6+ 100 = /164 = Af4 31 = 24/





REF:
011121ge

6
ANS:
1

Because the diameter is parallel to the y-axis, the length of the diameter may be calculated by subtracting the y values.  If the diameter is [image: image55.png]12-2=10



, the radius is 5.
REF:
010426a

7
ANS:
3

[image: image56.png]JE5P 4122 = 169



  [image: image57.png]S s @f12)? = 121448 = 169




REF:
011722geo

8
ANS:


Yes.  [image: image58.png]G-17+ (42 = 47
(34-17+(12+2)* = 16
5.76+10.24 = 16

16 =16




REF:
081630geo

9
ANS:


[image: image59.png]3, 3b+ 2)



.  [image: image60.png][3a+;76v2b71;45+5]: [Aa—ﬁ ﬁb;AJ (a-3,3+2





REF:
061134ge

10
ANS:


[image: image61.png]


.  [image: image62.png]T=1+R,



.  [image: image63.png]


.
REF:
011031ge

11
ANS:


[image: image64.png]


.  [image: image65.png](&

tap)



.  [image: image66.png]


.  [image: image67.png]


.
REF:
010633a

12
ANS:


[image: image68.png]


  The point (5,–2) does not lie on the circle.
REF:
080230a
